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IE s K % ouT I N TOTAL] HDCP NET
& | BE ST 47 45 92 22.8 69.2
e B 40 41 81 10.8 70.2
3 fz| EN @K 44 49 93 18 75
4 fz| A K 56 54 110 31.2 78.8
5 ] HERE 50 41 91 12 79
B-B|] =& MX 71 70 141 36 105
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IE {3 K % ouT I N TOTAL] HDCP NET
& | BT £ 41 41 82 13.2 68.8
#Ep FEE 49 42 91 19.2 71.8
3 fiz| vk RIS 36 41 77 4.8 72.2
4 fz| HE 28F 44 46 90 15.6 74.4
5 | BEHEKF 46 50 96 21.6 74.4
B-B| it =R 69 67 136 36 100
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IE i K % ouT I N TOTAL] HDCP NET
& | ki TE 40 41 81 7.2 73.8
@ EHEE 42 47 89 14.4 74.6
3 fz]| BEA HHM 52 49 101 26.4 74.6
4 | RANED 50 50 100 25.2 74.8
5 | HEFEF 43 38 81 6 75
B - B| EHE_ER 60 68 128 36 92
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IE i K % ouT I N TOTAL] HDCP NET
& | Il B=E 48 43 91 19.2 71.8
T RS 46 44 90 18 72
3 fz| FEEM 7%EA 46 46 92 19.2 72.8
4 1| 5% BB 46 45 91 18 73
5 | EH KR 45 45 90 16.8 73.2
B-B| Jl®E= 57 61 118 33.6 84.4
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IE {3 K % ouT I N TOTAL] HDCP NET
A 39 43 82 13.2 68.8
#ER BREE 39 37 76 4.8 71.2
3 fu| HBA A% 45 41 86 14.4 71.6
4 | B 28 40 37 77 4.8 72.2
5 fi| JEEF IR 42 46 88 15.6 72.4
B-B| & &= 55 54 109 26.4 82.6
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